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1) Mel, NaHCO;
2) TsOH, M62C(OMG)2
3) DIBAL-H

4) BANHOH, MgSO,

A
Oppolzer's L-camphorsultam How would you prepare Oppolzer's sultam?
5 & 5) n-BuLi, bromoacetyl bromide (hint: start from CSA!)
6) urotropine, then conc. HCI
step 6: name of reaction?
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10) KOH, MeOH
11) BnBr, NaH
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12) Mg, (CH,Br),, A
13) Zn, NH,OH

14) CbzCl, NaHCO,
15) TsOH, MeOH
16) DMP

17) AgOAc, CH,CHCO,Me, B
18) Pd/C, H,

19) CbzCl, DIPEA

20) TFA

21) BnOCH,CHO, AcOH, 4A MS
22) BnBr, K2CO3

23) LAH

24) DMSO, NEt5, (COCI),

25) TMSCN; ZnCl,

26) Lawesson's Reagent
27) Ra-Ni

28) oxirane, MeOH, 60 °C
29) BCl,

30) Mn(OAc)3

Step 12: Please explain the stereochemical
outcome of this reaction (transition state!)

Step 17: Come up with a mechanism that
explains the reaction's stereoselectivity
Step 21: name of reaction ?

Hint: two positions get reduced in Step 23

Step 26: Structure of L.R. and how would you

prepare it? H /
NCW/'<N
/y N
HO™ H
H H
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Hint (Step 27): position H \\/O
of interest does not get MeO o

completely reduced
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